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Explain the definition, types and structure of Ecosystem.
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Explain the following.(Any Two)
(a) Food chain (b) Ecological pyramid (c) Energy flow
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What is Air pollution? Write an Essay on its causes and preventions.
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Write an essay on any one.

(a) Science

(b) Pollution

(c) Power of Yoga

(d) Computer Education in India

Write a short story on any one.

(a) Vedic literature

(b) Discipline

(c) Advantage of green trees
(d) The Hindu Trinity

Answar the questions (any five)

(a) How do the trees sing?

(b) Mention three sacrificial fires?

(c) What will happen if the trees are not taken care of?
(d) In what does the cultural heritage of India lie?

(e) Who were called the extremists?

(f) Why does poet campare reason with stream?



8.CAX year

050.13 }A‘——’ &,exw\* A&l %QM5®1J ®
Jeet - ) — 4 4 L2

“’V\Waj O{ JTJ,‘ < ¢ —
QILLLH@\;’

! o .]Of{\aj _Q/}, COVV\?) uil)‘g -Sj‘/f/f"'ﬂw\ 2 Hﬂ£ P (C:?(.'FHQ.C.H
nmpuq‘” Deosters  VOmmMcirar, bl C
, Y CLM”{ -“’Mf}“‘lﬂ

Rroewsimg Onist dw  Bodall.

@btquOu\;« 21~

. WAt AA O/;M;ﬁ QEZALW,,; (_QPQFJ(:,J.A_ (nO7J
omd sk ofgutcuﬁ\ﬁf QS)JA./WI 107 Cc»mqmmab,

6 wustion s~ 2

LIhedt  As CowvwaLu Sc;f-mw? &y ppl i
@j/uvm Sey oo amd  Pppliesd S’rfa‘m SO
oletaid.

S"“g’k"‘* 1= 8 fee [PC 99.{“J-v°au

Brsdion e~ 4 o Whedt 25 woeasd ﬂ‘wcm&ikéy og@{:ﬁnw.* .

g;cleam iz werd awe by all Y Peokouns o defald.

AvuHar = 21~ Exploan M exedf . [l hxe Qk?zlalu

LCoumeHon  amal Rosmnda Aetaty.

Aupriens 2:— Wnk Qhas WATD 57

(D Ma At
@ MA Pewfq'd’,

T r————

Subogect o~ 2 o Pﬂmaﬂmvwd? m Wiewa) Raale .
Aoastion Lo What Ja Vieua) Laric - Explar 4

—}QW'
(g-uu;i!»fau o Q)cfzjdu\‘q A}Olcu], 'w\ Vl‘&u@J g-’fd?c-
9, pstie <7 2:- Whak

: 3J) EPT omd MDI A.ﬁ._-,{.,- a s o
“’\ \/;SU‘Q} (gaz,lc .



nea D

e

&Ubﬁi@)l‘ P}"“’J)“’V’m"‘ﬁ ;V\ &8 -,Oav‘vtg,(,(a_ﬁ{:—
(9 LLLS‘HOA : e @- & E,QO ’@ﬂalb\ (- Ff-(a g,u cxmtﬁ Q-.% Lag,u.ov (7( Lo

=

of £,

wHors-@) WO
D 8cp
@) AcC IZ
@) £8 EBe D1
@ codes
O Exaun-2
©

€ s3ar dadecdon amd COMC’-J”"W/"}L Cedlay .

: (- _Qovw;?i.ufgc .

] Q_f/'_l_L_L«_!'."d




Suboect O o@fSCA.Lt .Maﬂ«wahu' @

&QUAHGA‘ @(CUTO P—Q’L‘““’- M Md{x‘luu.wm ’L’LQW\]J(UL O{'
Qd@u I o g;mpﬂl Ccquol« VWit 1 \penticds 14 M(lf\f;L)'

® iohicke op e Py gror Lo o

m—

2.

[ opnid Foriicinn o't Q
—
1 A
©. @ejﬁ‘lm §— |
d ), [t
i, @;wahﬁ gEYYPS

) Q}mmm Toees
agwazhw @@Qm;mw e 4-QQ4N3 fumckan 1o O*J"“‘-‘M“
Yosmal — Foom c-
(1, x.}/' + xzt XY,
a2, (oY) cty) @ +2),
Ogae  Haa Smplipled cluwd? op
Exprustion -
L (% w2) = )(.yfz + (z24y ). x'
2., Thse Luncti o XYt o'y 'y 2 :,1_,}\,,,_}/\ -
JA'SJud'f‘M nosvmea —rom} C’L‘m‘ﬁ’* aft o
Conguctve  novmed Fasn .

> |

| @)wﬂ‘mt’@urf A, l%,C are- Ovﬁ- :W/LPLUL e ~ @me_‘ff SelX

e 2LTIICE $tot,
O ) x e = (Arac) —(EXxe)



o, If VJ' ar the  Gof of !Mﬁl%&/& and  Ho A
g (ahon )@R)ﬁf} )c_—y 12 an Clemn ™ ‘C‘}Ul)fﬂq,f,\
Move  Hat R 9s an  Cguialew, ngh-%
VOhore X, Y & I

. To She tatif RL omd 37 om [ Uasore
of o oulotions R and £ Mfzecj’fuﬂ.fﬁ(_.}ﬂm_k

Cgo@'-i = R“i el
Sobgects -DCaleabus amd  GrakisHes] Aralpaci

BusHars- @i~ Tem  Shuduis get Ha FQM”“"'“(%
Pesucontog of rmarnks o Elononies g Sakisiics 1

RJ_O_W:‘,f 5 2 2 4 & - 2 9 4o

Mandsiuw F¢& 3¢ 9% 2 7 g2 %0 ca (S 29

C m«w\(_};

Moarksiw g4 S) 9y ¢. 3 ¢z 8¢ S8
Qtahg e

A\

I~

972

Caledats  tha  Coerpicit °f Carselat o
@w-}%m@;fjm Hie Cfeing 2!:2}» ) x'g_ Z2d»x?%* 1 4 4t
Ponds ot wolie H bamged s paratty v

Hha a,,(‘r.g C;f_x.
QuuHe Drn Tind M By doivadie of
[ 1+x |

NI



